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1| #FiE EE (deX) 180 150 140 470
2| Bk =& [EEX) 130 60 90 280
3 &=H BAgk | (BIX) 210 210
4 i HIEE [ GEEIX) 80 60 50 190
5| £H Ez0 | kX 14 100 14 128
6] F# iR (deX) 50 60 110
71 =@ Xk | (EEX) 30 60 14 104
8| thHA a5t (deX) 30 40 30 100
pite] =X [ (EEX) 30 40 30 100
[N #wE | (LEX) 30 20 50 100
NS gEZ2N | (GEX) 100 100
12| & tH | (BEX) 6 40 30 76
13 ¥ET BE [GtEER) 30 40 70
14 HEH - | dREIR) 30 20 14 64
15 /Ml theE [JEXE) 6 40 14 60
16 #H FhE (deX) 14 40 54
BE wE | GEER) 14 40 54
18] XK#F K&k | (FEX) 14 20 14 48
=H =3 (deX) 14 20 14 48
200 K i [E#.N:)) 6 20 14 40
21 E BEA |[(BEX) 14 8 14 36
22| M X | (FEX) 30 30
23| #H ZEFE | (EXKE) 6 20 26
B BE | GEXE) 6 20 26
K #Z— |GkXE) 6 20 26
26 = R tX) 14 8 22
T EAN [GEEER) 14 8 22
EAIT k&g | GEXKE) 14 8 22
29] EX BAER | (GEEIXR) 20 20
il B (LX) 20 20
EF TfE— (deX) 20 20
= ®’in | (FEX) 20 20
33| R ek | (FEEX) 6 8 14
RTF £ | FEX) 6 8 14
Fith EA (LX) 6 8 14
BaT & i) 4t (LX) 6 8 14
A H BE— | (BEX) 6 8 14
Tk gEx | dbRE) 6 8 14
FidEk EZ#H |GLEX) 14 14
40 HBHE% X |(GtXE) 8 8
&5 ME |(BEX) 8 8
7KE7 NG (FtX) 8 8
A Ng ((LX) 8 8
Ealin #wE |HER) 8 8
He B (FtX) 8 8
[VED] A GRS 8 8
FbH far | (dEER) 8 8
+XF E=vi (FtX) 8 8
1% ik | GEXKE) 8 8
ET InE (FtX) 8 8
A nE ((LX) 8 8
HH MRl | (AL=EK) 8 8
R MzB | GERIXK) 8 8
INEF = (kXE) 8 8
EVi] ZH | (FEX) 8 8
)l H 25 (dexX) 8 8
571 &t XE [ EHX) 6 6




= SFEE | (GEX) 6 6
=# fmA | (FEX) 6 6
2 H A | (BEEX) 6 6
% H £Hh [CGEXE) 6 6




